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Since ®''2%1 etc. then '"1 is of the opinion that 1"52 is said on
account of 12%°p% 1Mx» 23TV PN

OVERVIEW

The X773 questions: how can 7171”1 be of the opinion that the v be delivered
in the presence of only two o*7y, since we infer' that *" maintains the wwn
of 11°pP% 1xn 07 PR, there should be three people — a 7"°2 — to be o»pn the
0a.

In 2"5 we find two opposing viewpoints of 1171 ™, concerning Vi WR27Y 2.
One opinion is that 1"52 M2 P27 PX which is in accord with X297, The
‘other’ opinion is that 1"52 9% 12>7% which is in accord with 7721,

mDdoIN anticipates a possible answer to the s'X773 question:
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The X712 did not want to answer this question by saying that this statement
of 33m° "1 that the %W delivers the va in front of two people follows the view

of the ‘other’ opinion in 2''2. According to the ‘other view’, >"1 maintains that "2
Y"7TAn v IRNIAW are required to say 1"92. The reason is because the requirement for
saying 1"92 is based on our concern of WY X7w. This quote that >3 states '2 *192 1M1 is
in accord with the X127 77°X.> They both maintain the oyv of aw>.

mooIn rejects this answer: We do not want to say that this 9nn°X follows the opinion of
the Xaw°7 TR —
= Py NIN ANI) 2392 91217 199998 PR DY IMINRPT ONNT NIWY NINNT
For the alternate opinion of °"7 that is quoted there which states: two
°*m>w who brought a v3 are not required to say 1''®3; that opinion is the
main opinion, concerning which -
- VN XYY NN 15 NYY NPT
It was said in the X723 there that this view is a stake that cannot be

moved; thereby indicating that the correct view of >"9 is that 1"92 was instituted on
account of 01°p. Therefore it should require that 1"52 be said nw5w *152.

" See “Thinking it over’.
* The previous NpYonn between *"1 %"2™ where we inferred that *"3 maintains P> ™81 D79 PRY *00
follows the alternate 1% in 2" where *"1 is of the opinion that 1"952 2777 2°3°7% PR L) X2 '3 since NIPN
1"91is QP WA,
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mooIn offers another rejection of the proposed answer.
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And furthermore, that answer, which m»o1n previously proposed (and
rejected), would not have answered that which the X723 asked

additionally; ‘but 7739 agrees to 839,’ therefore even according to 727 he must
deliver the v in the presence of three people for o1p. Saying that 717 '3 agrees with 727
does not explain why he can deliver it in the presence of only two people, since 1727
himself agrees with X219, that 1"92 is said on account of 1°p as well.

SUMMARY

We cannot say that 1311 "1 who maintains "2 *192 7% 11011 follows the view that
1"92 M 0°2°7X V3 NATW 2 because: a) That view is superseded by the
alternate view that 1"92 9> 2°2°7¥ X X WY '3, and b) it would not
resolve the second question that 8277 7°% n°X 727 X7,

THINKING IT OVER

Why is it necessary to infer’ that >'3 maintains ovp since "7 maintains
nwh; we can prove directly that >3 maintains 01°p since the correct view of
> is that 1"92 917 02" TR 0 IRAY 2, like *x21?

? See footnote # 1.
* See (1x7) R"wAn and »'m.
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